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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1- By signing these papers, I agree to not ———- any of my company’s financial records to
anyone outside of my firm.
1) authorize 2) articulate 3) divulge 4} victimize

2-  Without an antidote to treat the patient, the poisonous snakebite would prove ------- -
1} vulnerable 2) fatal 3) massive 4) extreme

3-  Stifling a yawn, Jackie covered her mouth as she listened to one of her mother’s -———
stories about her childhood.

1} interminable 2) credible 3) widespread 4) hteral

4-  After learning the lawyer accepted a bribe, the committee decided to ——-- him and
suspend his license.
1} encounter 2) retaliate 3) underestimate 4) rebuke

5-  The government will —-—-- any property that has been purchased with money earned
through illegal means.
1) resist 2) seize 3) eliminate 4) avoud

6-  Now that | have got another offer of employment, which sounds as good as the earlier
one, [ am in a ——-———-- as to which one to choose.
1) necessity 2) comparison 3) postponement 4) dilemma

7-  Since there is a huge -———-- between the results of the first and second experiment, the
laboratory team will conduct a third test.
1) discrepancy 2) autonomy o) randomness 4) opposition

8 To get a good grade on the research project. you must -——-- vour report with provable
facts.
1) inforin 2) outline 3) substantiate 4) interfere

9-  We thought that the power cuts were temporary and would end but we have now
realized that this is 4 ——---—- prablem and will never end.
1) chaotic 2) perennial 3) fragile 4) memorable

10- Ifa---——- -— answer can provide the information requested, there is no reason to bore a
person with a long response.
1) boundless 2) conceptual 3) concise 4) logical

PART B: Cloze asz:nge

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
each space. Then mark the correct choice on your answer sheet.

It is very easy to lead someone’s memory astray. For example, if | witness a traffic
accident and (11) —-— whether the car stopped before or after the tree. I am much
more likely to “insert” a tree mto my memory of the scene, (12) —--eeeme- no tree was
actually present. This occurrence reflects the fact that when we retrieve a memory, we
also re-encode it and during that process it is (13 ) -————--- erT0T5.

Elizabeth Loftus at the University of California, Irvine, and colleagues have shown
that this “misinformation effect” can have huge implications for the court room, with
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experiments (14) ——-—- that eyewitness testimonies can be adversely influenced by
misleading questioning. Fortunately, these findings also suggest ways for police,
lawyers and judges to frame the questions (15) —-—- — they ask in a way that makes
reliable answers more likely.

11- 1)1 am later asked 2) later asking 3) to be asked later  4) later asked
12- 1) even then 2) so even 3)as if even 4)evenif
13- 1) a possibility implanting 2) possible to implant
3) possibly to implant 4) possibility of implanting
14- 1) are repeatedly demonstrated 2) repeatedly demonstrating
3) that are demonstrated repeatedly 4) to demonstrate repeatedly
15- 1) that 2) when 3) because 4) even though

PART C: Reading Comprehension:
Directions: Read the following three passages and answer the questions by choosing the best

choice (1}, (2), (3), or {4). Then mark the correct choice on your answer sheet.

Passage 1:

The neuron is the major functional unit of the nervous system. Almost all neurons
have an information receiving arca of the cell membrane, usually called the dendrite; a
cell body. an mformation-carrying extension of the cell membrane, called an axon; and
a presynaptic terminal at the end of the axon to transmit information to other cells. The
axon 15 often covered with myelin sheath that enhances the speed of information
transfer along the axon’s length.

Neurons are mterconnected with each other. For example, the retinotectal pathway
provides information for reflex orientation of the eyes to the position of a light source,
whereas the retinohypothalamie pathway carnes information alfecting the body’s
physiological rhythms in respouse to light-dark cvcles. These individual neural
pathways are both part of the visual system. The other cell type in the nervous system
is the glial cell. Glial cells play important roles in producing the myelin sheaths of
axons, modulating the growth of developing or damaged neurons, buffering
extracellular concentrations of potassium and neurotransmitters, formation of contacts
between neurons and they participate in certain immune responses of the nervous

system.
16- Which part of a neuron does the enirance of information take place from?
1) Axon 2) Dendntes 3) Cell body 4) Organelles
17- Which statement pertaining to myelin sheath is true?
1) It increases transfer of a massage. 2) It may decline transfer of information.
3) It inhibits some information. 4) It covers axons and dendrites.
18- According to the passage, thorough visual system involves -——-—- i

1) position of a light source

2) individual neural pathways

3) response to light-dark cycles

4} retinohypothalamic and retinotectal pathways
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19-

20-

21-

22-

23-

24-

25-

Which function does NOT include duty of ghial cells?

1) Myelin impairment or damage to neurons

2) Incorporation in growth of neurons

3) Buffering neurotransmitters

4) Involvement in defensive system

Which of the following shows the main goal of the passage?

1) Glial cells and myelin sheaths 2) Neuronal circuits
3) Neuron structure and pathways 4) Eye and vision pathways
Passage 2:

The primary function of the cardiovascular system can be summarized in one word:
transport. The bloodstream transports numerous substances that are essential for life
and health, including the oxygen and nutnents required by every cell in the body.
Blood also carries carbon dioxide and other metabolic waste products away from
metabolically active cells and delivers them to the lungs. kidneys, or liver, where they
are excreted. To appreciate the importance of cardiovascular transport, consider what
happens if the heart stops contracting and circulation ceases: unconsciousness results
within about 30 seconds, and irreversible damage to the brain and other sensitive body
tissues occurs within a few minutes. The higher the rate of metabolism in a tissue, the
greater 15 the requirement for blood flow. The condition of imadequate blood flow to
any tissue is called ischemia. Even transient ischemia leads to dysfunction. Persistent
ischemia leads to permanent tissue damage infarction or cell death necrosis.
Cardiovascular dysfunction and disease can be either congenital or acquired.
Myocarditis is an example of an acquired cardiovascular disease. Congenital
cardiovascular disease frequently involve defective heart valves which either cannot
open fully or cannot close completely. Congenital cardiac defects are common in
certain breeds of dogs and horses.

The first important action of cardiovascular system is ----- e

1} contraction 2) transportation

3) nutrition 4) respiration

Metabolic waste products carried in blood are ———- .

1) delivered to lungs and active cells 2) sent to active cells

3} exterminated in heart 4) forwarded to liver and kidneys
The illness that oceurs immediately after cessation of cardiac function is ........
1) unconsciousness 2) impaired exercise performance
3} infarction 4) ischemia

Scant blood flow to tissues results in all the following disorders EXCEPT —--—--—- :
1) tissue damage infarction 2) transient and persistent 1schemia
3) disorder in metabolism 4) cell death necrosis

Which statement is compatible with the passage?

1) Acquired cardiovascular disease is breed dependent.
2) Defect in valves of the heart is an acquired disease.
3) Inflammation of the heart muscle is congenital.

4) Defect in valves of the heart is a congenital disease.
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Passage 3:

Mature T-cells develop from lymphoid stem cells that have migrated to the thymus.
Lymphoid stem cells that are destined to become T cells migrate to the thymus and are
referred to as thymocytes. The most recent immigrants from bone marrow arrive at the
cortex of the thymus and lack important cell surface markers, such as T-cell receptors
(TCRs), CD4. and CD8 markers, which are essential for T-cell activation. These
immature thymocytes undergo a highly complex and tightly regulated development
and maturation process into mature T cells. During development the cells begin to
acquire both CD4 and CD8 surface markers (double positive) and TCRs. As the cells
further mature, they lose either CD4 or CD8 markers.

During development the thymocytes learn two important lessons: (1) T cells
respond only to foreign antigens (positive selection), and (2) the cells will not respond
to “self” antigens (negative selection). Therefore, any developing thyinocytes that
deviate from leamning these two key lessons are terminated by apoptosis.
Consequently, greater than 90% of developing thymocytes die within the thymus.
Cells that are marked for intrathymic death include those cells that are defective or

auto reactive. Thus, only competent, positively selected T cells (CD4™ or CD8™) are
allowed to emigrate out of the thymus as T cells.

The immigrant T Cells which arrive at the cortex of the thymus -——----

1) possess surface markers 2) are immature thymic cells
3) are mature thymocytes 4) possess T-cell receptors
T-cell receptors and CD markers are necessary for activation of ———-,
1) immature T-cells 2) mature T-cells

3) lymphatic system 4) thymus

At the last stage of maturation, which of the following would T-cells miss?

1) T-cell receptors and CD4 or CD8 markers

2y CD4 and CD8 markers

3) T-cell receptors and both CD markers

4) CD4 or CD8 markers

During developmeant, which kind ol thymocytes would undergo more apoptosis?

1) Underdeveloped cells 2) The cells with positive selection

3) Impaired and auto reactive cells 4) Any kind of thymocyte

Which of the following cells are the T-cells present in general circulation?

1} Negatively selected T-cells 2) Positively selected T-cells

3) The cells foutd in cortex of thymus 4) The cells found in medulla of thymus
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